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Partner A solves the first problem verbally

Partner B watches, listens, checks and coaches if necessary praises. When response is agreed Partner A writes the answer.
Partner B solves the next problem

Partner A watches, listens, checks and coaches if necessary praises. When response is agreed Partner B writes the answer
Repeat the process until all tasks are complete and you have a coherent paragraph which answers each challenge
1. What are the embourgeiosement thesis and the affluent worker thesis and how do they differ?
2. What is the deskilling thesis and to which sociological perspective does it belong?
3. What is the underclass and where has it come from?
4. In your view is the underclass functional or dysfunctional?
5. Give a cultural explanation for the growth of the underclass with 2 example sociologists
6. Give a structural explanation for the growth of the underclass with 2 example sociologists

7. Which explanation do you find most convincing and why?
